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P g SR
2 W B #E7E Boal R
By 3% 104410 H 06 H eI Dt e/ 97 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE AbE 10. 00| AHxf 400 4,000 2,160 1,928 1,728
HOR w5 5. 00 | #Hx} 38 190| 3,456| 2,882 1,296
H ¥ E % 15. 00 | #85F 1,275 19,125 1,490 1,245| 1,080
X D BB 10. 00| AH%F 290 2,900| 1,048 979 788
ESF AWII--N E % 4. 00 | FHxf 28 112| 4,536| 4,314 3,726
H % i 3. 00| FHxf 54 162 1,836| 1,724 1,620
H A ] 1L 1. 00| FHxf 160 160 1,620 1,249 432
ENIEE 500 M| 24| 1200 3,240 2,655 2,160
A w5 5. 00 | FHx} 177 885| 2,052| 1,693 756
R 8.00| fa%F| 6l 28| | 1,620
= %O 4. 00| FH%f 288 1,152 2,808| 2,307| 1,728
[N %% 5. 00| FHxf 878 4,390 2,106 1,833| 1,242
v—< F 5. 00| FA%f 3 15 1, 296
A7 k= b AbiEiE 3. 00| FH%f 301 903| 2,916| 2,691| 1,944
H 3 w5 5. 00 [ FHx} 20 100 1,944| 1,760 1,404
A= 4 AL E 10. 00| AHxf 730 7,300 1,620 1,047 756
B OF = 10. 00| AHxf 203 2,030 3,024 2,277| 2,160
£ A AbifEE 20. 00| FA%f 135 2, 700 2, 160
w | 10000 fxk | a4 4,460] 2,700| 2,496 1,836
LA R 5 % 10. 00 | #H%f 1, 950 19,500 2,430 2,062| 1,296
==l H A & ¥ 4. 00| FHxf 762 3,048 2,376 1,527 1,080
Tryal— £ ¥ 5. 50 FHx} 130 718 3,240 2,821 2,592
/N € th 1. 00| FHxf 1 1 21, 384
AEHEE w5 0. 10| #Hxf | 2,200 220 162 96 65
ZDEH E % 0. 20| FA%F 1, 200 240 70 48
LU £ B 0. 20| FA%F 300 60 93 86 84
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P g SR
2 W B #E7E Boal R
Rz A F044£10 H 06 H eI Dt e/ 34 b (Biir)
fn 4 JE Hit = (Mo | E=E e T fE g2y ]

iR LA M Fosk L 10. 00 | #H%F 776 7,760 3,456| 2,631 1,512
5 U H & 10. 00| FA % 76 760 4,320 4,240 3,888
NSl Fosk L 7.50| FA%S 974 7,310\ 3,456| 2,783 2,484
LIPS o 60 | FHxt 96 59 410 366 302
@l | o 30| k%t | 400 120 34| 302| 281

E =% 10. 00| AHxf 22 220| 10,800 9,818| 9,720
Avavs 74 V¥ | 13.00] fHx%} 10 130 3,024| 2,894 2,376




